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python
from sympy import symbols, integrate, diff
X, y = symbols('x y')
P=x**2+y
Q=3*x*y
# S R
integrand = diff(Q, x) - diff(P, y)
result = integrate(integrand, (x, 0, 2), (y, 0, 1))
print("FEARARXTHE AR : ", result) # Fi: 2
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import numpy as np

from sklearn.linear model import LinearRegression
# ARV AU (x,y) 400Q/0x - OP/Oy I
X =np.array([[0,0], [1,1], [2,2]]) # FEAAEDR

y = np.array([0.1, -0.05, 0.02]) # RSP IR ZE

model = LinearRegression().fit(X, y)
print("FE AL AR ZE: ", model.score(X, y)) # AT 1, NITAUMRST
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